Mo oo
oS
lo
4
fol
_l’_
3!
rr

62
Y, ofN
Mo
~

0]¢] 3000 & : +3000 Y

)
® =54 60kg : —60kg
®

29 B8 - 5 BoA vehd o2 &7

@ &4 A308: 308

@ A= 5000 Y: -5000 &



@ 2x>x

D 2x=6

@ -x+5=-x+5

@ 1<3



IS

xShy =29 2% Ao 4 (2, 6) 7 A& W atb

@ 13 ® 15 @ 17 © 19



4. T RN 1//m QW x4 2y O G Poledet,

A

Y+10° Y 3x+20°

m
:E-I—40°>/




(—?vc—6y)2 = A7NSHH ax? + bxy + ¢y? |t} oW, A5 a, b, ¢ 9
a+b+co F2?

@1 @ 3 ® 5 @ 7 ® 9



At y =ax—b 9 A2t oS 19
WS g b HSE?

D a>0,b>0 @ a>0,b<0

® a<0,b>0 @ a<0,b<0

® a>0,b=0

yl

By



A




E]-—‘%— % O] “]-H]—Zq Alo] 7

pi W)
rlo
O

O xP+2x+1=x%-1 @ x> +3=(x-1)*
@ (x=1)(x+2) =4x @ B -xr+2x=0

® 2x-5=0



9. o]i}@'—?yz2x2—12x+5—‘%y:a(x+p)2+q94Zélij_%_]UH’
a+p+q° & Y

® -11 @ -12 ® -13 @ -14 ® -15



~

ol

ch2tg

1

28 % 9 dZHA] ATt 11 A

ﬂ/-

—_

N

o

~
T B
z
=
R¥ 1o
Hr oo
o) T
=

A



=

Aol A F A 3x—2y =3 2x +ay = 29 WO FHH7}

11. zxa™d
o o, ab 9| = F-5HH?

(2, b)

£

®

8 4
@ -8 @—§ @ -2 @‘g

O



"®946H7}a<x<b<34u41,b—a

3x-1<x+3

® 2 @ 3 ® 4

1

@ o



o

U
%o

o
B

Nfo

olp

Lot

=
o )

A2, ot

@ | Z+o] =2717F

uhg ol

© H ®e] do|7t &



14. 5 o344 642 = 5x+ 17 6x2 + 7x - 3 9] 5-5% Q4= ax -1 °|th
ol o, a & F-stozt.

Beo-



15. & I1¥oA oABCD = 3 He] Zo)7}
2 ¢l mpExRtolt} gABCD 9] Holx?

@ 2 @ 243 ® 4
@ 443 ® 83




16. th 127} 22 7M7) ABC o4 AC €] 2olE 75}
tan 78° = 4.7046 )

B
78°Jio
A -3
@ 45.234 @ 46.198 B 47.046

@ 48.301 ® 49.293



17. ©he 2ol 4 PT &= 5 919 442 ), v ©] @t




18. o S|AEIYL o] ¥k sHYEC] ZHA| T QlE A 5
5lo] LFEFAR Aot} AFEFO] 427} 45 7)) ulukol AlZ o] At w
ool et

(8
20
16
12
8
4

0 40455055 60 65 (7))



19. 0.64 =ax0.01,0.047 = bx0.001 & W, a—b 2] g F5toiet.

D
c



%y 7b A4S W, thg F QA sh] 57t b AL A

A

@ 2x+y=38 @ 2x+y=9 ® x+4y=15

@ 6x+ 4y =24 ® 2x+y=11






22,

th2 139 bABCD+= AD // BC ¢l Attha]&oltt, AD:BC=1:2
ol mj, %ZBE] 3715 otz




® 10

@ 25

® 4

@ Vb

O 2



24. Y A9 45, 8, a, b 2] o] 4017, Bato] 79 ), o 4 42 2] LS
Jajolat,

D
=%



25. & J3ofA S AB 9] 4olE 4xem , OA = 6em o[t} o] =R
HEZ vt o, B9 Fol=?

D 3v2cm @ 4+2cm ® 4v3cm
@ 5v2cm ® 7+3cm



